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READ THESE INSTRUCTIONS CAREFULLY

1. Usean ordinary pencilmf—-m‘“

2. Make sure that you have written on the answer sheet:-
(I) YOUR INDEX NUMBER (1) YOUR NAME (111) NAME OF YOUR SCHOOL

3. Whenyou have chosen your answer, mark it on the ANSWER SHEET, not in this question booklet.

l'l'imc: 1 Hr. 40 Min. l

L. he following are functions of the nose | 6. Which one of the following is not a
except one. Which one is it? requirement for germination?
A. Trapping moisture A. Soil B. Water
B. Filtering dust C. Air . D. Warmth _
C. Warming the air 7. The process of d!gestan of food start in
D. Moistening the air the_h_ and ends in the —
2. l\Vhw}‘l-one of the following is not an /]; :;?;ﬁ i’n?fr:lslft?ne, large intestine
insectivorous plant? C. mouth. rectum
A. Butterwort B. Venus fly trap D. i outh: ileum
C. BElttercgp D. Bladderwort . 8.  The illustration below shows to experiment
3. The following processes take place during set-up by Grade Six pupils to investigate
inhalation. Which one does not? the rise of water in soils.
A. Volume increases in the lungs X v 7
B. Pressure increases in the lungs ’
C. The diaphragm flattens e e 0
D. The ribs move upwards P! I .
4. Which one of the following pairs form the b / .
embryo of a germinating bean seed? / ; ,
A. Cotyledon and microphyle /_ . .
B. Hilum and testa L :'-_'—-_‘/ _—_j;/ .
C. Plumule and radicle ) /:— :_f_/, :_:/“““”'
D. Cotyledon and endosperm )
5. The chart below show classification of Cotton wool
plants. When the experiment was left to stay
) { M,OHOCOtS (S) overnight, the results were as shown above.
Flowering{_Dicots (R) From the observation, which of the
Green following statements can be true? Soil
Plants sample
f Non-flowering (Q) A. X is the for modelling
Non-green (P) ) B.'Y cannot make the longest ribbons
C. Z has the best drainage
Which one of the following shows a D. Y has larger air spaces than soil
summary of examples in each case as shown sample X
sbove? 9. A child well known to be suffering from
P Q R S anaemia will show all the following signs
A. I\7I-ushroom Moss Peas  Sorghum ?\nd Slt/rgsltlo ms except.
B. Fern Puffballs Lichen Maize B. E:art bez.ts rapidly
C. Moss fedar Maize Bc.ans C. pale and whitish palms and fingernails
D. Algae Mushroom  Beans Rice D. feeling weak and lack of energy
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10.  Which one of the following shows the largest
and the brightest planets?
A. Mercury and Saturn
B. lupiter and Venus
C. Neptune and Mercury
D. Pluto and Earth

11 Which one of the following statements about
arteries and veins is incorrect?
A. Arteries have thick elastic walls
B.Allvein carry blood away from the heart
C. Veins have valves
D. Arteries are located deep inside the

muscles

12. Which one of the following is the liquid
part of blood?
A. Plasma B. Red blood cells
C. White blood cells D. Platelets

13. One of the following is not an internal
livestock parasite. Which one?
A. Tapeworm B. Liver fluke
C. Roundworm D. Ringworm

Ulre diagram below shows an experiment done
by Grade Five pupils. Use it to answer question

14.

Gldss

/_ Au.

—Trough

— Water

14.  This experiment was most likely set up
to demonstrate the fact that
A. air has weight B. air exerts pressure
C. water contains air D. air occupies space
Some curative drugs are also called
A. pain relievers B. antibiotics
D. stimulants
16. Which one of the fullowing is net a good
way of maintaining tools?
A. Cleaning and dryine them
B. Sharpening cutting edges
C. Keeping tools outside for fresh air
D. Oiling and greasing tools

—_—
m

C. vaccines

17. Which one of the following methods of
grazing is not rotational? ‘ _
A. Stall feeding B. Strip grazing
C. Tethering D. Paddo_ckmg.
18. Which one of the following is the
reproductive organ of a plant?
A. Stem B. Flower
C. Leaf D. Roots
19. Choose the incorrect statement among the
following about matter.
A. Solids have definite volume
B. Liquids have definite shape
C. Gases have definitec mass
D. Solids have definite shapc
20. The following are reasons as t¢ why one
should know his or her HIV status. Which
one is not? To
A. enable him or her to take necessary
precautions
B. minimise the spread of HIV
C. plan for the future
D. enable him or her to seek early medical
treatment
21. Which one of the following shows the major
components of the environment?
A. Plant, animals, light, sound
B. Soil, water, plants, animals
C. Air, water, light, plants
D. Buildings, light, sound. heat

The diagram below shows components of air
as found in the atmosphere in relative amounts.
Study it and answer question 22:

-y

~/‘ ‘
22. Which one of the above p
needed by plants durin

arts shows the air
g the process of

photosynthesis?
AP B.Q
C.R D. S

23.  Which one of the tollowin
A. Pig weed
C. Wandering jew

g weeds is edible?
B. Sodom apple
D. Black jack
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24.

()
n

27.

28.

29,

30.

Which one of the follow;
. owing bott 'l
produce the highest sound w%lenoblloe\in;;l“

g\;gglr;eé\\fo stcales of different sizes are
iror rom the same height at the

time, what happens? gt at the same
A. They reach the ground at the same time
B. The bigger stone falls faster

C. The smaller stone falls faster

DC. They collide and refuse to fall
[facoinis immersed into a basin with clear
water, 1t appears raised to a height higher
than the bottom of the basin. This happens

as a result of .
~>Position of

! the eye

Apparent— === T T/ =
position -+ -~ = --—Basinwith
of the coin | — clean water
E fﬁ?\ -
Coin
A. reflection of light B. refraction of light
C. dispersion of light D. diffusion of lights
Study the food chain below. The arrow
points to the eater.

{

Grass—>Grasshoppers— Frogs—>Snakes

From the food chain, which of the above is
a producer?
A. Grass B. Grasshoppers

C. Frogs D. Snakes

Which one of the following drugs is a
stimulant when taken in small quantities but
depressant when taken in large amounts?
A. Bhang B. Khat

C. Cigarette D. Alcohol

Which one of the following methods of food
preservation takes effect by reducing or
absorbing water from the food?

A. Canning B. Refrigeration

C. Using honey D. Salting

Which one of the following immunisable
diseases is not controlled by administering

a D.P.T vaccine? _
A. Diptheria B. Polio
C. Whooping cough D. Tetanus

31.

32.

34.

33.

36.

o0 2o !

Different types of teeth are used for
different functions. The type of tooth shown
below is used for

A. grinding
B. tearing
C. cutting
D. chewing

JITIA T T

The following are myths and '
misconceptions about HIV/AIDS. Which
one is not?
A. AIDS has no cure
B. HIV carriers are always thin
C. HIV/AIDS is a curse
D. HIV/AIDS victims are sexually active
The following are effects of abusing drugs:
(i) Truancy
(ii) Lack of concentration
(iii) Withdrawal symptonis
(iv) Rape
(v) Addiction
Which one of the above are social effects?
A. 1and ii B. iii and iv
C.iand 1v - D.i,ivand v
Which one of the following foodstuffs will
provide the body with the energy required
te perform manual work?
A. Lemon, pumpkins and sweet potatoes
B. Ugali, beans and sukumawiki
C. Chapati, roasted maize and cooked
bananas
D. Chapati, chicken and pineapple juice
Clothes can take the shortest time to dry
when the weather is

BT (=8
R

Which one of the following processes take
place at point X?

/Solid\

Liquid Liquid

N

T
C. Wyt
N
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s that yield rainfall

fi\. Condensation B. Evaporation 45 Cloud ' o
C. Melung D. Freezing A are mountaineous by z&ppcqrd11ce
37, \\le‘(.‘r can be used tor different functions. B! look like r()llﬂd cofton h.nll‘s ) .
\\‘hn.'h one of the following cannot be a use C. are grey in colour and are scen high in
of water for recreational purpose? the sky ‘ ;
A Swimming B. Ferrying . are seen Jow 1N the sky and look like
L Surfing D. Fishing feathers _ ‘
A8, The transter of heat through pases takes 46. A group of Grade Five pupils were set to
place by D ‘ carry out an experiment where ghey tied a
A radiation only black polythene paper on a leaf of young
B. convection only orowing plant as shown below.
C. conduction only : '
‘ “ radiation and convection
29, The chart below shows classification of
animals
Animals 7 Black polythene
‘ - | S 'Zj paper
\ c‘nj‘bmte Invertebrates '
Q R
If vertebrates can further be classified into From the above experiment, the pupils were
two groups as shown above, which one of likely to conduct an investigation on
the following animals will not belong to A. photosynthesis B. respiration
aroup R? C. transpiration D. germination |
A Birds B. Reptiles 47. Which one of the fo_llowmg crop pests is
C. Fish D. Amphibians correctly matched with the part of the crop
40. Which one of the following emotional it attacks? .
changes occur to both boys and girls during Pest Part it attacks
adolescence? A. Weaver bird - Sucks sap on leaves
A. Shoulders broaden B. Weevil - Stem
B. Feeling shy ](JZ ﬁérr?\z worm - I}:leaves
C. Attractio i . Cutworm - owers
D. Growth foutbhiz ﬁggosne SeX 48. Whiqh one of _the following farm. anim'al will
41. Digestion of proteins starts in the provide us with mutton and dairy milk?
A. mouth B. small intestines A. Sheep only B. Goat only
C. stomach D. liver C. Cows only D. Shgep and goats
42. Which one of the following livestock 49. The amount of force of gravity acting on an
parasites incorrectly matched with its object is called weight. Weight therefore
effect? can be measured in
Parasite Effect é grams B. kilograms
A. Mites — Damage the skin 50. D ot 0. newions :
e . During the construction of a railway line,
B. Roundworms —  Cause swollen belly some gaps or open spaces are left between
C. Fleas —  Cause skin irritation the crossbars of the bars as shown below.
D. Tapeworms — Cause liver bleeding These gaps are left to
43. The main reason as to why we apply mulch 7 77
on the farm is to %4 7 Z
A. make the soil fertile 1 e
B. supress the weeds 7 7
C. concerve the soil ZZ 77 0
D. conserve the water ./ e ®® oo |
44, A farmer will find it well to turn materials 7 7 Z '
in a compost pit in order to 72
A. allow air circulation A , X
B. introduce decomposers 5 prevent rusting of the metal bars
C. fix nitrogen in the soil o Speate patterns for beauty
D. slow down the rate of decomposition D allow room for expansion
. allow room for contraction
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